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y XII Part B - by Subhash Dey

Accountanc

12, Match the following:
(i) Appraise the firm’s ability to meet its (a) Lenders
 short-term obligations. (b) Trade payables
(ii) Interested about the firm’s present (c) Finance manager
(d) Investors

and future profitability.
13. It is possible to assess the profitability, solvency and efficiency of an enterprise through the techniqu

(ratio analysis/cash flow analysis).
The financial statements are prepared on the basis of accounting concept, as such, it does not reflect the current position.

14,
15. Ratio analysis provides a deeper analysis of the profitability, liquidity, solvency and efficiency levels in the business.
True/False? Give reason.

True/False? Give reason.

e of
(Fill in the blank)

16. Ratio analysis provides information for making cross-sectional analysis.
17. When comparative financial statement of an enterprise for two or more accounting periods is prepared, it is known a!

s R R (Fill in the blank
18, Financial analysis ignores qualitative factors. True/False? Give reason
19. In case of common size statement, figures of previous years are taken as base for comparison.  True/False? Give reason.

20, Inter-firm comparison s also known as: (Choose the correct alternative

() Cross-sectional Analysis (b) Trend analysi
> 755 s
~(c) Dividend decision Analysis (d) Debt Analyyssis

Objective Type Questions 8.4

o~
f/
/ 1. The of a business firm is measured by its ability to satisfy its short term obliga

tions as they become due:
(Choose the correct alternative)

;/ (a) Activity (b) Liquidity
,/ (c) Debt (d) Profitability
| 2 ratiosareameasure of the speed with which various assets are converted into revenue from operations or cash:
/ (Choose the correct alternative)
/ () Activity/Turnover (b) Liquidity

() Solvency (d) Profitability

3. Th ‘
( e vtwo basic measures of liquidity are:
{ a)) "nventory turnover and current ratio
: . :
Er0ss profit margin and operating ratio

(Choose the correct alternative)

(b) current ratio and liquid ratio
(d) current ratio and average collection period
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Analysis of Financial Statements

is a measure of liquidity which exclud
es
e ————— . Benerally the |past liquid asset:

) current ratio, trade receivable
rent ratio, Inventory

(Choose the correct alternative)

1 (b) liquid ratio, trade receivable

d) liquid

o) o : ( ratio, inventory

ratios provide the information critical to the lon

g The : 8 run operations of the firm. (Choose correct :
@) liquidity (b) activity ; BN Stenoche)
¢} solvency (d) profitability

5 mh the fdlwing:

" ) Measuring the efficiency of operations of business (a) Liquidity Ratios
pased on effective utilisation of resources (b) Solvency Ratios

{#) Measuring the ability of the business to pay the (c) Turnover Ratios
amount due to stakeholders as and when it is due. (d) Profitability Ratios

7. Match the following:

[ij Measuring the ability of the business to (a) Liquidity Ratios
meet its contractual obligations towards (b) Solvency Ratios
external stakeholders. (c) Turnover Ratios

{i) Measuring profits in relation to revenue (d) Profitability Ratios

from operations or funds (or assets)
employed in the business.

§ Tumover ratios are also called efficiency ratios. True/False? Give reason.
-5 ratios are calculated to measure the short-term solvency of the business, i.e. the firm’s ability to meet its
current obligations. (Fill in the blank)
10 Current ratio should be very high. True/False? Give reason.
il Current ratio should not be very fow. True/False? Give reason.
12 Match the following:
I} Normally, it is safe to have current ratio fa) 1:1
within the range of: (b) 2:1
) Normally, it is advocated to be safe to have (c) 3:1
3 Quick ratio of: (d) 4:1
B Quick Ratio is considered better than current ratio as a measure of liquidity position of the business. True/False? Give reason.
.
5 Quick Ratio s also known as ‘Acid -Test Ratio”. o e Tme/Falset?aiLve ﬂ:’voson
) f f the business to meet its short-term ons withou 2
~————— Provides 3 measure of the capacity o ( et A )
B} Current ratio (b) Quick Ratio
fe) Debt-equity ratio (d) Working Capital Turnover ratio
% reason.
9, ;'::"""a‘ed to be safe to have a liquid ratioof 1: 1. True/False? c:l;:mm’
the foliowing information, liquidity ratio will be: (Choose the correct

ank overdran 210,000 Trade payables 40,000 ; Current assets 280,000 ; Inventories T20,000 ; Prepaid expenses T5.000:
Mﬁl\u 000 ’ paya ¢ > L

5 f 13:1 (b) 1._25:1
b g S {d) 1:1
Tota) lowing Informations, current ratio will be:

%3,00,000 ; Non-current assets ¥2,60,000; Non-current liabilities ¥80,000 ; Sha

‘.'0-5:1
1

18

5 MM“Mme always reduce the current ratio.







